No. of Printed Pages : 4 MESE-062

MASTER OF EDUCATION (M.Ed.)

Term-End Examination
| 10 | I R e June, 2019

MESE-062 : VOCATIONAL EDUCATION
Time : 3 hours ' Maximum Weightage : 70%

Note : All questions are compulsory. All questions carry
equal weightage. ‘

1. Answer the following question in about
600 words : :
What do you understand by the concept of Work
Education ? What are the objectives of work
education ? Discuss its basic features.

OR

Discuss the recomimendations of various
committees and commissions regarding vocational
education in India after Independence.

2. Answer the following question. in about
600 words :
How is “Vocational Education for All” important
in the Indian context ? Support your answer with
arguments and elucidate your role for it as a
vocational education teacher.

OR
What is the concept of competency based
curriculum ? Discuss the considerations you will-
keep in mind while developing such a
curriculum.
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8. Answer any four of the following questions in

about 150 words each :

(a) Briefly explain various models of Vocational
Education.

(b) Describe briefly the management of
vocational education in China.

(¢) Describe organizational structure of VET in
Australia.

(d) Explain how access of girls/iwomen to
vocational education can be improved in
today’s Indian context.

(¢) How can vocational education support

learners with special needs ?

() Discuss the partnership principles, which
apply to public-private-partnership model in
VET in India.

4. Answer the following question in about
600 words :
Identify a collaborative model of vocational
education and training. Discuss its characteri;,tics
and challenges. Also suggest the ways for its

effective implementation.
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